





Inverse quadratic interpolation Introduction Suppose *f* is a function, so y = f(x)• - In this case, if *x* is a root, then f(x) = 0 Suppose *f* is locally invertible around the root - In this case,  $f^{-1}(y) = x$ therefore  $f^{-1}(0)$  must be a root For example, •  $\cos^{-1}(0) = \pi/2$  and therefore  $\cos(\pi/2) = 0$  $e^0 = 1$ , and therefore  $\ln(1) = 0$  $y = 4x^3 + 6x + 1$  $\sqrt[3]{y-1} + \sqrt{y^2-2y+9}$ x = $\overline{\sqrt[3]{y-1+\sqrt{y^2-2y+9}}}$ 4











• It uses quadratic interpolating polynomials to approximate the inverse

- Understand that this approximation of the inverse is evaluated at zero
  - This results in simply the constant coefficient
- Know that this method is  $O(h^{\mu})$ , which converges almost as quickly as Newton's method









